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Attention: These 70-464 Exam Questions Were Updated After 2014/7/1 With The Change Of New Microsoft Exam. 100 Percent
Vaild And 100 Percent Pass Ensure. Visit Our PassL eader Website And Get All Valid Exam Questions With PDF And VCE.
QUESTION 1  Your company hasa SQL Azure subscription. Y ou implement a database named Databasel. Databasel has two
tables named Tablel and Table2. Y ou create a stored procedure named spl.Spl reads data from Tablel and inserts datainto Table2.
A user named Userl informs you that he is unable to run spl. Y ou verify that Userl has the SELECT permission on Tablel and
Table2. You need to ensure that Userl can run spl. The solution must minimize the number of permissions assigned to Userl. What
should you do? A.&#160;&#160;&#160; Grant Userl the INSERT permission on Table2. B.&#160;&#160;&#160; Add Userl to
thedb_datawriter role. C.&#160;&#160;&#160; Change spl to run asthesauser. D.&#160;& #160;&#160; Grant Userl the
EXECUTE permission on spl. Answer: D QUESTION 2 You use SQL Server 2012 to maintain the data used by the
applications at your company. Y ou plan to create a table named Tablel by using the following statement. (Line numbers are
included for reference only.) 01 CREATE TABLE dbo.tablel |

02 ID int IDENTITY(1l,1) NCOT WULL,

'+
(g |
AN ._,_JQ JJF 4l dr Q@ J___
var c: RQIJIdA_,

05 CONSTRAINT PK tablel PRIMARY KEY CLUSTERED(ID ASC)

06 )

Y ou need to ensure that Tablel contains a column named UserName. The UserName column will: - Store string values in any
language. - Accept amaximum of 200 characters. - Be case-insensitive and accent-insensitive  Which code segment should you
add at line 03? A.&#160;&#160;& #160; UserName nvarchar(200) COLLATE Latinl General CS ASNOT NULL,

B.&#160;& #160;& #160; UserName varchar(200) COLLATE Latinl_General_CI_Al NOT NULL, C.&#160;&#160;& #160;
UserName varchar(200) COLLATE Latin 1 General CS ASNOT NULL, D.&#160;&#160;&#160; UserName nvarchar(200)
COLLATE Latinl_General_CI_Al NOT NULL, Answer: D QUESTION 3 Drag and Drop Question Y ou have atable named
Tablel that contains 1 million rows. Tablel contains a column named Columnl that stores sensitive information. Columnl uses the
nvarchar (16) datatype. Y ou have a certificate named Cert1. Y ou need to replace Columnl with anew encrypted column named
Column2 that uses one-way hashing. Which code segment should you execute before you remove Columnl1? To answer, move the
appropriate code segments from the list of code segments to the answer area and arrange them in the correct order.  ov= snssse w rey

DECRYPTION BY CERTIFICATE Cerctl;

CREATE SYMMETRIC KEY Keyl WITH ALGOR]
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CREATE SYMMETRIC KEY Keyl WITH ALGOR!
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ENCRYPTION BY CERTIFICATE Certl:

Answer:

OFEN SYMMETRIC KEY Keyl
DECRYPTION BY CERTIFICATE Certl: CREATE SYMMETRIC KEY Keyl WITH ALGORITHM = 5
HAL

EHCRAYPTION BY CERTIFICATE Certil:

HAL

CREATE SYIMETAIC XEY Keyl WITH ALGORITHM = 3
EHCRYPTION BY CERTIFICATE Cercl:

ALTER TABLE Tablel
‘ ADD Columnd varbinary(256):

ADD Columnz avazchaz [256):2

COPEN SYHME
l/_ 1r(_u"f'-_ f:, r‘FEA Y uclf_ o e,
e | - | -
UFDATE tablel SET Columng = nuy;:sr.{g;
:n;—_c:;:at-nn : Columnl):

CREATE CREDENTIAL Credl WITH IDERTITY = 'Use
xlf, SECRET = ‘Flsswdrd';

UFBATE tablel SET Columnd = Eacsyprdyviey CLOSE SYIMETRIC KEY:
(KEY_G'J:;[‘KEY].‘ ) ,Colamnl);

CREATE SYMMETRIC XEY Kevl WITH ALGORITHM = A
£S_256
EHCRYFTION BY CERTIFICATE Cextl:

Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com | Pagel/4 |


http://www.actualtest.info/?p=709
http://examgod.com/plimages/fcdec6aa6291_9124/212.jpg
http://examgod.com/plimages/fcdec6aa6291_9124/313.jpg
http://examgod.com/plimages/fcdec6aa6291_9124/323.jpg
http://www.profprojects.com/?page=upm

This page was exported from - New Real Practice Test With VCE And PDF For Free Download

Export date: Wed Jan 22 15:51:01 2025/ +0000 GMT

QUESTION 4 You review aquery that runs slowly. The query accesses datain a table named Schemal.Tablel. Thefollowingis

the relevant portion of the execution plan for the query:

<MissingIndexes>

<MissingIndexGroup Impact="95.8296">

<Missingindex Database="DBE1"

</

Schema="Schemal" Table="Tablel">
<ColumnGroup Usage="EQUALITY">
<Column Name="Columnl" ColumnId="14" />
</ColumnGroup>
<ColumnGroup Usage="INECTALITY">

| YA Fame="paw e PO TN T ()
335l v s Al et e G oM
</ColumnGroup>
<ColumnGroup Usage="INCLUDE">

<Column Name="Column4" ColumnId="11"
</ColumnGroup>
Mi=zsingIndex>

/>

</MissingIndexGroup>
</MissingIndexes>

Y ou need to create the missing index. Which code segment should you execute? A.&#160;&#160;&#160; CREATE
NCNCLUSTERED INDEX 1X1 on Schemal.Tablel (Columnl) INCLUDE (Column4) B.&#160;&#160;&#160; CREATE
NCNCLUSTERED INDEX 1X1 on Schemal.Tablel (Columnl) C.&#160;&#160;&#160; CREATE NONCLUSTERED INDEX
1X1 on Schemal.Tablel (Columnl, Column2, Column3) INCLUDE(Column4) D.&#160;&#160;&#160; CREATE
NONCLUSTERED INDEX 1X1 on Schemal.Tablel (Columnl) INCLUDE(Column4) WHERE Column2 <> Column3 Answer; C
QUESTION 5 You are creating atable to support an application that will cache data outside of SQL Server. The application will
detect whether cached values were changed before it updates the values. Y ou need to create the table, and then verify that you can

insert arow into the table. Which code segment should you use? ¢ a,

A.&#160;& #160;&#160; Option A  B.&#160;&#160;& #160;
D.&#160;&#160;&#160; Option D Answer: C
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CREATE TAELE Tablel
{
ID int IDENTITY (1,1},
Name warchar (100),
Version uniqueidentifier DEFAULT (NEWID{())
)
INSERT INTIO Tablel (Name, Versiom)
VALDES ('Smith, Ben', HEWID()})

" B. CREATE TABLE Tablel

(

ID int IDENTITY(1,1),

Name varchar (100},

Version uniqueidentifier DEFAULT (NEWID())
)
INSERT INTO Tablel (Name)

VALUES ('Smith, Ben')

o

£ G

By JRRLE B ) S0,(5E)

ID int IDENTITY(1,1),
Name wvarchar (100),
Version rowversion
)
INSERT
VALUES

INTO Tablel (Name)
(*Smith, Ben')

" D. CREATE

(
ID int IDENTITY(1,1),
Name wvarchar (100),
Version rowversion
)
INSERT INIO Tablel (Name, Version)
VALUES ('Smith, Ben', NEWID{())

TABLE Tablel

OptionB  C.&#160;&#160;& #160; Option C
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http://www.passleader.com/70-464.html] QUESTION 6 Drag and Drop Question Y ou run the following code segment: CREATE TA
(

Id int
Custome

:;eta—:;%.—s
] . ! | N

GO

CREATE PR
ON dbo.

GO

After you add 10,000 rows to Customers, you discover that the index is fragmented. Y ou need to defragment the index in the least
amount of time. Which code segment should you execute? To answer, drag the appropriate value to the correct location in the code
segment in the answer area. (Answer choices may be used once, morethan once, or not at all.) ~ Values Answer Area
ALTER INDEX &LL ON Cu
REBU]LD WITH

ON OFF

STATISTICS_MNORECOMP

Answer: Values Answer Area

ALTER INDEX ALL ON Customers
REBUILD WITH

Ao e leeE e coim)

STATISTICS_WORECOMPUTE ON b

QUESTION 7 You use SQL Server 2012 to store data used by an e-commerce application. Y ou develop a stored procedure
named spl. Splis used to read the price of all the products sold on the e-commerce site. Y ou need to ensure that spl can read data
even while another transaction is modifying the price of a product. Sp1 must only read committed data. Which transaction isolation
level should you usein spl? A.&#160;&#160;&#160; Seridizable B.&#160;& #160;& #160; Snapshot  C.&#160;& #160;& #160;
Repeatableread D.&#160;&#160;&#160; Read committed Answer: B QUESTION 8 Y ou execute the following code: ?g*gz’finif‘ﬂi
details XML):
GC

INSERT INTO P
VALUES
(1!
N'<Project Na
<J.&.5K5)’ BEEIN
Tasl/ Manle=

<Ta5k Name=
</Tasks>
</Project>'),
(2,
N'<Project Na
<Tasks>

<Task Name=
</Tasks>
</Project>'):

Y ou need to select the task that has an IsFinished value of true from the Project that has an Id value of 1. Which code segment
should you use?
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" A SELECT Projects.details.query('Project/Tasks/Task/[@IsFinished="trus®]")
FROM Projects
WHERE Projects.Id = 1:

" B, SELECT Projects.details.query('//Task/IsFinished="crus"')
FROM Projects
MUEDE Drajacrs. Id
parzice
e O! wr/ WA
[ i 14 sgchr Prcjec:s decails
FROM Projects
WHERE Projects.Id = 1 AND Details LIKE '"Strued';

rjr txcom

 D. SELECT Projects.details.query('//Task[@IsFinished="true®]")
FRCM Projects
WHERE Projects.Id = 1:

A.&#160;& #160;&#160; Option A  B.&#160;& #160;&#160; Option B C.&#160;& #160;& #160; Option C
D.&#160;&#160;& #160; Option D Answer: B QUESTION 9 Y ou execute the following code: S

id int PRIMARY KEY,
CustomerName char (10)
)

You create.a nongluste 'r*( IK_L &&i_xn"l

You execute the following query:

SELECT * FROM dbo.Customers
WHERE LEFT (CustomerName, 1) = ‘a’

Y ou need to reduce the amount of time it takes to execute the query. What should you do? A.&#160;& #160;& #160; Replace
LEFT(CustomerName ,1) ='a with CustomerName LIKE 'a%'. B.&#160;&#160;& #160; Partition the table and use the
CustomerName column for the partition scheme. C.&#160;& #160;& #160; Replace LEFT (CustomerName ,1) = 'a with
SUBSTRING(CustomerName ,1/1) ='a. D.&#160;&#160;&#160; Replace | X_CustomerName with a clustered index. Answer: A
QUESTION 10 You have a SQL Server 2012 database named DB1. Y ou have a backup device named Devicel. Y ou discover that
thelog file for the database is full. Y ou need to ensure that DB1 can complete transactions. The solution must not affect the chain of
log sequence numbers (L SNs). Which code segment should you execute? A.&#160;&#160;&#160; BACKUP LCG DB1 TO
Devicel WITH COPY_ONLY B.&#160;&#160;&#160; BACKUP LOG DB1 TO Devicel C.&#160;&#160;&#160; BACKUP
LOG DB1 TO Devicel WITH NCRECCVERY D.&#160;&#160;&#160; BACKUP LOG D31 TO Devicel WITH TRUNCATE
ONLY Answer: B (New Version) Free Trying Passleader Microsoft 70-464 Study Materials With New Questions Click Here
To Get The New Update And 100 Percent Valid & Pass 70-464 Exam Questions -- http://www.passleader .com/70-464.html]
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